J 4

Sfn44

TEX] PRFEILE
BHYG 4 &

[ 4]

2 SRR = N BIEI S O 1R
& RHIE T
B WEE

13!
=
fm

-
T



FREH (morwo) Ifm
o 8 ke
MKk <REHLSE
HREEER
Ir=IE

E+IRARPOLLEHSEEHL ik | H
=HEPRIFFHRSCE<RECHAR TE<EE i |E
=14+ | RHALE | CEVEEHETHL SREEE 2| H
=1 |+PEPF | RIORPEHEQETEL KREIE 8| Bl

=HNI FREPOIPBEUETHLS HEkEBKE

=+ HNFKKROEDH HETH LS Wikit+E w2 E
sPRKAHEROMRPKBEKEHS #itds ®|R
=1 | REFAZLEECECERHL P

= {7 | REQKHED B

=1 | REHEKE N e 0

=| | HERLIOR|HE L ok = Yz o

=7 | RRPBIRETHEL e R

= Z KKREQER Kiggnd @ =
== ERKane &+E®HKS O
=171 k=<4 KERgEE

‘S mEOREL K s

HE 11 =7 MR A S g b 4o

=N | e Ee b R0

(S -E)

B0l (mro®) =ODSJEEKE
HUERTRERH TYER

RErHy

Read. - <E HEZ EEZ
HOHEC#¥ J|ER KB
R REREOHE L

HioEREL

HIZH o HIL K8 8841 |8

£ (i
HEE{(+REM
kHEZ (+E5H
<EZ!(l|+E#
k-1oiEHE ( HE
“HR+-HECRLEE
| 41 MR -4 MK A 1 | s 4T
HERRE+H<L EREINL S H
HUNFLREs
UE | P41 5% ke (8) +H
| B8 %ELTuEs
XN ZrEREs
FEZE X454 MERE+1 |

EHLE +<L$H H#ELRvrs
=SSR NN ki F =)

EI+E 1 sy M

YVIENmE+LEHA | RKePEe

\pRIDHEEL #1is# M IRE £818° oRioH
&

RUREESIDR
<5

Y<LEHO! |+H1<E RITELK4+R<L" K EE+-R<"
&;H<

P& X HigH <

LLPib | RIE" #BE R HEHE<
YVEIImE+-LgHEA | )Rl
Yiwgio+EEL <4+ |E&od || EEXwSioE”
BEECIH#HEE" | 1E1<F | EIR
K HEF- SRR oK HEFERRRIZ o8N
i
EOE A m
FEEEXR
LHzE<R ()
HEFERERIE
B K m (lmEL” ZHigsmE)
fqH BEZIkE
FERERXS

Ll HREHNH HELmHiCS
KIEBLKR #HL=ZEKDonauies
XM | A RERES
HENEKX | &8 1+-E4 MRER
LZRE+PHR =ZKbmwies
ENX+<% #HIAX=HoHLnv
l+KH Ep<=ZKbhwmaues
XY | AHEREs .
BEIENE | £114+115%
RE+IR =ZKLmwvies
ZHEEYS EiEgKmwirs
Tl +ER HEHRE=BEsH®:LmuiEes
XM ] ol IREs
FEEET RS9
THXINERRY =ZKbmwies
LTIBHLR HEREOHLZBoHELFmwies
ZHE+H1E BoHL=KbTmwirs
IR 1+1H ExdHeHEe=Konwirs
XA RBs
& (#) PS4+
X | s
-y EH | ELIXUIE 41114
FEHE+HY =XbomPmpies
XA | FrEs
-y HEIE P XCH NSO
I E4+18 N+OHRZKDELTwEs
WE+F<EFHRIEKLSH
VSN ImEI4-{< LA s 14
L EERZLE41 14 8o i

N #EAC

N REN |

NI KE -

LT




| EREEEw R | iR
[ BRI B KRR
| EEEN B2 (o) Y REEW
4+ (25) g |m 14
#10 .
| RO EN iR #HPH o
| HE S sk HE#E) vl
| E¥eBLL g8y KEEFSFHs
3 1 o R i K
| EEnF R WS i
| BB o8V
| 3% B E Y &K B
BREIRES L% 500y HEH
3 1h00K
| BRI Y QavENy KK
| 8RB CaBRE &

WS

| EIE+Rb o 0k

EHE | BRB% S
HUNSBEERCL

(W EEE RS EERIRE
HUSBEEHCK

RER

| nlEde e F K&

LEE

[ o O sglistibeal

| BT BRI 0% )WL
| eI+ E+RE
a0

Il <7 & 4+ H <8\
ER+HH<H

| <

| EHE (HD)

R TN Y- 2 HIE R .

R K P Y

¥R+ HEERDE
b
e
FmEH4
EHifE ®£7F
i #o RE

E & R
&£ HY AL

ol (BEPER)
DHAK | m BHEBRKEEHoRMURES
40 e G 1F3 Lt
LR=H K+ | EH+NERK
gl ( 1 BHG-KEHEH TEN®

BEHOY (- o®) =G EEXE
QIR FCRELHE TUN

TN <EE HRE EEk
FaHECH &ED KELD JoE®RE
W LREBOHE L 0K

B3E 6 o S, m e Y BB 1 T

i e
iz (-RE®
EHEE{+&#
<E {11+
ek (SRR
%+ HETRLE
| 4]t B -4 M A e 4
S KB+ BB < 5%
BRIk =
HE! | F PB4 N (i) 4+
€ E<i S##soles
LB 2 T A Bl ol .
FELE RN 4% N1 ]
CRKE <3 R Eales
SRR E =3
-HI -+ ] 0] = KT Hi-4
o

CIRREHS *ELTiEs
By 8= Komirs

B A RRE S . |
HENEKE | &1 1+E% I
ERE+PYR SXKDmwiEes .
<% #XIRSE HibEm
K% Bi<4=Khmikes

L IEN RN LT
ERIENR B8 1+H118 MEREK
ERE+HHR ZKLDowEs

EHEEYS H®iESocazs

E1+E% BXLRESEoHE-Pmaies
BEx2 ] Al ks
EEER K T8+%

LN #ERH =ZKoowoEs

EL{8{HE HEXLRAKCHL=ZoHE:-LmniTs

ENE+NH BoHLZKopaEs

E1#8 4+1R #EnEHeEeZ Khmauies
B2 AN RE s

M|

WE () PRI K e+

B | A g |

x B 1 IRST |4-1]4 e O
EES+HS SKLmETEs

K | AR

v HE R I8 - RO

KIH]IEF IS +eHSSKoEY mairs
SHF < EEIR =%

V) e E N ED -4 ML A0k 14

£l FEKSE S SEoad ok



2E RT-7

BA4Er ENH . =PI ARIR) DT

— — = s T e =
TR =E HHAF 63| 13.09 4 5 ] 0 Bk +B=H & L m ﬁﬁg‘?}:“fﬂgﬁgﬂgg E%E%—
2l ABE AL 37 2735l 2 8 L 3 CRE S m oA+ ——EBEKMIED OO B R X
FAETELET SBERZE RIS 56| 21.58 2 3 1 0 + i £ M — R Bk &% MN zZ K
eSS e e il of 8 9 0 7 5 BB kKl - xXXZ@EMA LD i i
SEREAL |[EAamr 35| 4.29 3 3 0 0 LI L 22 hER w4 x X
sﬁg#%ﬁﬂ ifﬂﬁg 44 7-.55 3 3 1 0 F’lﬂ%{ ] e e Uﬁﬁ(fﬂ%@ﬁzﬁ@ﬁ
NAZE] PAY:IEas e Gl s o il ol z Z L 2LV -1 BED
8|4 A iRk EhBh 4 : H oL X R8T L X "ZF . — —
[EEESET A @ 36| 061 2 4 0 0 b B 72 ¥ & hER X 3 3
10| REEL 55 0.29 4. 3 0 0 € 5 A Ak h = d s
il I By st} 2060 4 U} 0 9 e KW R mieE L e mEE »HA
12| (FERiEE Z %P 19] 0.1 " I R 0 s;f; ¥ EEEYE BEE 8B E g AR
EES 1 22 7 T O B oW @ E @ A T BRas
14 L £+EER 31] 0.34 0 2 0 ) Ean = ﬁ 115 A .1 - U/ s {g f‘?
15| X EpfuPu ER 54| 022 3 2 0 0 = = g% 5 B 1'\:]"
16| AHER OBh X 63 0 2 1 0 0 His Hit 1T :l_‘- =
11| FRES EEf v T | ) 0 ® ) =

. 18|(BESR A 35| B8.12 4 2 0 0 o A
19| {7 52 Ef 54|  0.62 2 3 0 0
20| XFBua  |EE®mN 40 6.71 3 4 0 0
21| R B E Y 30| - Sl gl O] I a0
AT A S e 26]  2.41 3ln. =2 0 0
23| A0 PR 48] 2.1 2 4 0 0
24| KF=mER [EEMEM 56| 0.78 5 2 0 0
25|hH B S ﬁgz‘fﬁil"l g?‘ ; ; -; i ; g g
26| AERVRCIE  [IREMR :
27|h I ABRE [ AEEM 64] 2.6 3 4 0 0
28| A RRIE/\ EFE s 44| 7.86 4 3 1 0 ;é $§ %s? ﬁ A 3
0[hHEIE  [BEM 40f o241 21 4. 8 3 R OHE S g
31 | FPRaRmED  |WhZs e boliiiogel “aLc . .0 3 B )1+ B Tpdela T o .=
T Tes T e ) ) [ MRS ~ET— O R =
33 (5 T R EfiiR 55 0 0 i 0 0 — —_ @AY I SRR

\ 42 0 2 3 0 0 B OE 7 4 b =
34| o/ e 5 +
35| M5 S Bh 30 0 2 1 0 N _|_-r M i A W

@ nlEEBE _ [BEEMN a4 o7l 3 3 of 0 B g R A
2 E“———‘F;‘ S 1) IS i N
e e W) ] ) B g : AN
A0|mpR = el [EEW 64f 142] 31 3 g g — M m A L fiz: =+
41 [ch R RED 43 oy -3 0 = Mmoo HFARA B E 5 N
S

H N L
a ﬁ%gﬁ — (Bl 7 N 7| S ] D, IO 5 8 % 95 1
f 45 0 1 2 0 0 h t £t &R B 1T
45 U hEHER 2= i ]
46| B FE 48] 7.13 4 4 0 g 5 -
47| e 5. I BB 27] 045 1 g g :
48| K& FLAD L - - . A AL S
a9[RMESEA | HHMM - .48 0 Rl A1 AL Al
1 i~ =
2? ﬁ;’ig% = 57| 1.69 2 1 0 0
52 |77 jBh £ 2L D 31| 051 1 2 0 0
53| A8 :ARR s O] 0.31 2 2 0 0
54| KB [AZ P 7] T N | R T
55 Dz B+HER 65| 0.24 1 1 0 0
56 7 i 1 T = pal 456 2l 1l @ 0




BRA4SET BEMF, R ABIR) O

K EE3 ¥4 [B55 F3:EPNIES

4lRkZE=80 |Hefa@f 27.71 2 5 1 0
O|BESEHEE |SEHM 0.46 2 1 0 0
53| KFAS OO 0.31 2 2 0 0
27| AERS | AE®A 64| 26 3 4 0 0
40|FRpEEMEl  |[EEM 64| 1.42 3 3 0 0
50| B AME S 64 0 3 1 0 0

1|PHRFE E=idm| 63| 13.09 4 5 1 0
16| KHFER 1B 63 0 2 1 0 0
15|kt 61] 558 5 3 0 0
82| EMHER 60] 0.48 2 1 0 0
71| nBE A ER1E O&f#H 59| 4.16 3 2 0 0
103/ A AT FEMS 58] 0.74 3 2 0 0
5118 @EED SEMN 571 1.69 2 1 0 0
63 ﬁﬁﬁ?:ﬁﬁﬂ il 57 0 2 3 0 0
11 AKFTFE/N EHEEM 57| 457 2 4 0 0
87|th 1B\ F.E=k. 1w 57 0.11 2 1 0 0

FETE T 2 56| 21.58 2 3 1 0
13| KHFELt | A 56| 8.64 4 2 1 0
24| XFHF=MAER E@ 56| 0.78 5 2 0 0
54| KFF{F M |BEMM 56| 3.06 4 1 0 0
10| R EE+E ‘. 55| 0.29 4 3 0 0
G - e TS s 55| 0.66 3 1 0 0
72| 0k R+ BB 55| 269 1 3 0 0
15| X EFHUIEER 54| 022 3 2 0 0
19| (R S0l 54| 062 2 3 0 0
9| KXFAL 54 6.6 3 4 0 0
68|&AOJ/\ 54 0 3 6 0 0
20| T il A A 52| 6.42 2 2 0 0
65| REFEE/\ R 52| 5.34 3 1 0 0
93| M /N 1-EB 52)7 1.98 2 2 0 0
26| mEESROIE |[AhEfr 51| 5.75 4 2 0 0
g5/ OO |[EEM 50 0 1 1 0 0
86|40 =8B 50/ 0.11 4 4 0 0
78/ FHOOFE |FEMS 49| 1.91 5 3 0 0
83| M /\F J\EMS 49|  7.08 3 3 1 0
23| A RE k] 4 48] 2.1 2 4 0 0
ET 39 e e 48]  6.89 3 2 1 0
46| th -+ 48] 7.13 4 4 0 0
73 qzar-'r,m— 48| 6.83 3 3 0 0
04| KE S 48] 0.14 3 1 0 0
101 ﬂ’rﬁgﬂi B 48 ol .2 2 0 0
44| FEEEC 7S 45| 1.67 2 1 0 0
58| A il L + & #®M 45} 0O 2 3 0 0
6l kTERp |[FEHM 45 0 3 4 0 0

fES: > FAN: oy ] 44|  7.65 3 3 1 0
28| FAERHIE/\ 5 Z i P 44| 786 4 3 1 0
36 |7 ik 5 ik il 7 187 5 44] 4.97 3 3 0 0
95| RPEER Y [PuARFEf 44| 053 4 2 0 0
31| HEFE 43| 1.11 3 3 0 0
41| E 28R 43 0 3 0 0 0
6.2 7 ik 3 T HKER 43 0 5 1 0 0
7o{h A 000 43| 3.19 1 7 0 0
s8R H IS ChM 43| 1.97 2 1 0 0

6liEmEE+ER  |FEMM 42| 12.36 7 4 1 0

8|1 AL #hBh 42| 248 5 3 0 0
34| k% \ 42 0 2 3 0 0

AR 4A
sefo 9%

sofe, 204

ojes 29 A

57| FE A ER 26| 12.46 2 3 0 0
58| KEFiBRLD tEZ#/IMN 45 0 2 3 0 0
59| REF 175 BEE 31| 007 3 2 0 0
60| KEF{FT FER 41| 005 2 4 0 0
61KHRRE |EERM 45 0 3 4 0 0
62| miEH T i RER 43 0 5 1 0 0
63| 7 3 L ER 57 0 2 3 0 0
64| (FEERE 28] 1.02 4 1 0 0
65| KXEFE/\ E 52| 5.34 3 1 0 0
66 o= HI\ER 36/ 059 2 3 0 0
67| /i i T ik ag 32 0 2 3 0 0
68|Z A [1/\ 54 0 3 B 0 0
69| KHFES ZEREfily 37 0 3 7 0 0
70 A OO 43| 319 1 7 0 0
71| mEERERME  [O5# 59] 4.16 3 2 0 0
72| ok A+ ER 55| 2.69 1 3 0 0
13|hHEL 48| 6.83 3 3 0 0
74 =< E{EIR 25 0 0 1 0 0
15|kt ¥. 61| 558 5 3 0 0
J6(mgEsE+EE  [KERM 28] 14.49 2 1 0 0
17| KEFE/N EHERM 57| 457 2 4 0 0
18P HO0OF |[FEE 49] 1.91 ] 0 0
79 FA tEia@Pfi&s 57 0 0 1 0 0
go|O L EEf 23] 097 3 1 0 0
81 | ho B K iRk 41] 198 2 1 0 0
82|+ = puenR 60| 048 2 1 0 0
83| A /\F J\Eff 49| 7.08 3 3 1 0
g4\ F E+ %5 i) 37| 054 1 3 0 0
85| P HOOER |l 50 0 1 1 0 0
86|th 0 = &R 50 0.11 4 4 0 0
87{h#tiE/\ Bk i) 57| 0.11 2 1 0 0
88|th S —heflr 43| 1.97 2 1 0 0
89| PHNE 40| 421 3 3 0 0
90| b Rk HRER 26| 0.16 1 2 0 0
ICEEET EXT 0 33 1.29 ] T 0
92|iniEE B =iy 33| 7.99 4 2 1 0
93|52 HE/N-ER 52| 1.98 2 2 0 0
U KHEF 48] 0.14 3 1 0 0
95 %ﬁrﬂmﬂl P ER = i 44] 053 4 2 0 0
96 LA E+ERR 22 0 0 1 0 0
97 o= A VAR 23 0 1 0 0 0
98| ch ¥ F| P 38| 385 2 1 0 0
QhH5EER  |[Offl 29] 0.72 5 1 0 0
100{ch AT E+68  |/\BRE 1P 37| 143 3 4 0 0
101 |{FEEEE T B 48 0 2 2 0 0
102|8AE OO0 Al 39 0 4 0 0 0
103|¥8 H A F =l 58] 0.74 3 Z 0 0
1040 EERE |8 39{ 0.13 2 3 0 0
105 LS OO® (726 0 1 0 0
&5 44281 332.3] 269] 250 11
S 43.84] 3.16] 256] 2.38] 0.10
F# 101] 105| 105] 105] 105




Y

BRA4ETENH, RAAZIRI QRN FHFEBIR

K& [EE3 eI FRAAES
B3 LTS s 27.71 2 5 1 0
2icb#/\ERE  [/\EG&EF 37| 21.35 2 5 1 0
| H{ERE SHERE® 56| 21.58 2 3 1 0

76| MBEE+ES | KXEMM 28] 14.49 2 1 0 0
1|RFIRS HHAM 63| 13.09 4 5 1 0
57| hH FEAER 26] 12.46 2 3 0 0
6l{EBEETER [ ERM 42| 12.36 7 4 1 0
13| XHEL 56| 8.64 4 2 1 0
18| SRS 35| 8.12 4 2 0 0
92| hnkE B R 33| 7.99 4 2 1 0
28| R BEAE/\ ARz i 44| 7.86 4 3 1 0
1RKFEER FER =7 44| 7.65 3 3 1 0
32| Wit 36 7.6 2 1 0 0
46|chHEL 48] 7.13 4 4 0 0
83| H/\FE J\EfR 49] 7.08 3 3 1 0
38|mEECEE | ERREMM 48| 6.89 3 2 1 0
13| EL 48| 6.83 3 3 0 0
20 XFBGAEL SR EM 40| 6.71 3 4 0 0
9| KFAL 54| 6.6 3 4 0 0
29| 7w bR A A EM 52| 6.42 2 2 0 0
A3| R ThiEk hEf 29| 593 2 3 0 0
26| A RRIRC1 A VnEe i 51] 5.75 4 2 0 0
IHCEES 61| 5.58 5 3 0 0
65| K FFE /\ s 52| 5.34 3 1 0 0
36 | 7 iR B33 ek [ 2R 44| 497 3 3 0 0
56 | 7w i th - = BR @ 23] 459 2 1 0 0
17| KEE/N A5 {37 57| 457 2 4 0 0
5lEmEEERR  |EAMmA 35| 4.29 3 3 0 0
89| RS 40| 4.21 3 3 0 0
71| hoiEARERE [mE=E i) 59| 4.16 3 2 0 0
98|+ | F] =7 38] 3.85 2 1 0 0
42| £ 42| 343 3 3 0 0
70|h OO G 43] 3.19 1 7 0 0
54| KERER [BEMFM 4 56/ 3.06 4 1 0 0
72| @A+ ER -1 55| 269 1 3 0 0
27|pHABNSE | AEHEM 64] 26 3 4 0 0
8[4R A= 3k £Bh 42| 248 5 3 0 0
V| ABEREL [BEMM 26| 241 3 2 0 0
23| AR O frn 48] 2.1 2 4 0 0
11|BIFHS rih 31] 2.06 4 1 0 0
81k 41] 198 2 1 0 o
03| & H /BB 52| 1.98 2 2 0 0
88| B IS {— By 43] 1.97 2 1 0 0
78| O0OF |[BEM 4 49] 1.91 5 3 0 0
51| EZFEL] Sl / 57| 1.69 2 1 0 0
A4|{RELCIF< 45| 1.67 > 1 0 0
100[P A E+ER  [/\BRE @Y 37] 143 gliGali 0
40|FEEEEE  |EEWH 64] 1.42 3 3 0 0
91 |ch#) 2k ZHER/MN 33| 1.29 1 3 0 0
25| HERS  [HARZEMRFT gol 118l 21 A 0 0
37| 0 HEFH 431 1.11 3 3 0 0
64 m%% 28] 1.02 4 1 0 0
80| 1L B 23] 097 3 1 0 0
24| KFF=puEp  [EEEM 56| 0.78 - e of <0
103 |' FH hEH 58] 0.74 3 2 0 0
PG EE Y el 29] 072 5 1 0 0

!J\'.J ny };&% ﬁ' .;;:}.

N1 1o

1N 34

\ s # 1% 3%‘1‘«

2|0 FEL 42| 343 3 3 0 0
60| KEF{F {FE 41| 0.05 2 4 0 0
81| hojE K i 41 1.98 2 1 0 0
20| XTFECAER | BEAAS 40| 6.71 3 4 0 0
30(hF E)F B 40| 024 2 4 0 0
go|hH T 40| 4.21 3 3 0 0
102[8B 00 AEM 39 0 4 0 0 0
104 Mg ER +Bh 39| 0.13 2 3 0 0
98| th 41 F| = 38/ 3.85 2 1 0 0
2|ch T J\EER J\73 1819 37| 27.35 2 5 1 0
9| XFES =H M 37 0 3 7 0 0
84|hHFEE BA@MP 37] _0.54 1 3 0 0
100/ P E+B8  |/\BBEM@PY 37 143 3 4 0 0
9| 4B A [ jgk [EX =k im) 36] 0.61 2 4 0 0
25| hF RERS F AR E AP 36] 1.14 2 1 0 0
32|k 36~ 76 2 1 0 0
S|{EpETE AR |[BAEHMN 35| 4.29 3 3 0 0
18RS A 35| 8.12 4 2 0 0
48| K& RLER 34 0 3 2 0 0
21| PEFF FEEH 33] 0.21 3 3 0 0
91 |rh %28k kL 33] 1.29 1 3 0 0
92|k & @ 33]  7.99 4 2 1 0
67 |0k & [m]m] 32 0 2 3 0 0
1| BJIHS 1B 31] 2.06 4 1 0 0
52|75 ik I 3 B0 31] 051 1 2 0 0
59| KEFL17< Aa00 31| _ 0.07 3 2 0 0
35| #R M 7 gk BB 3 0 2 1 0 0
A3 RETHIRE hEf 29] 593 2 3 0 0
9 EER |OKM 29] 0.72 5 1 0 0
64| {BEGEE 28] 1.02 4 1 0 0
76 [k EE ] 28| 14.49 2 1 0 0
47 |7 E R ED 27| 045 1 3 0 0
22| MERFERE  |[BRAMFY 26| 241 3 2 0 0
57| A AER 26| 12.46 2 3 0 0
00| At JEjEE EPE 26| 0.16 1 2 0 0
56| 7 i = 23] 459 2 1 0 0
80|01l Kk T 23] 097 3 1 0 0
12| (R A AR X im 19] 0.21 4 1 0 0
7|5 S 5 & 0.35 1 2 0 0
=X 331.1] 264] 237] 11 0
P& 91 95| 95| 95| 85
iy 4387 7.81| 6.42| 587 1.21
TR
105 LG OCOR 71 0 0 1 0 0
55 DA P+ HER 65| 0.24 1 1 0 0
79 FA B G #M 57 0 0 1 0 0
33 [E&) HERERIIR 55 0 0 1 0 0
45 Yt MENER 45 0 1 ) [ 0
66 == SPASE & 36/ 059 2 3 0 0
14 L\L £+ BRER 31| 0.34 0 2 0 0
74 =< E{ER 25 0 0 1 0 0
97 == AR 23 0 0 1 0 0
96 LA ) 22 0 0 1 0 0
ait 436] 1.7 4 14 0
P# 10 10] 10| 10] 10
i 4360 0.12] 040] 1.40] 000

i, 2f §
29f8 (oA
efe /%




31|{FEEARTHhES  |[SRERIM 55| 0.66 3 1 0 0
19|{F % 58 EH 54 062 2 3 0 0
9 KE R EE#®M 36/ 061 2 4 0 0
66 == H/\ER 36| 0.59 2 3 0 0
84| FE+£ BEEMN 37| 054 1 3 0 0
95| Bk PIER Y  |PUERE 1l 44| 053 4 2 0 0
52 |77 Bk F AR 1311 053 1 2 0 0
82| #f EZ g BB 4l 60| 048 2 1 0 0
NEHSFHE |SER/M 0.46 2 1 0 0
47|k ERER 271 045 1 3 0 0
17|F#E55 S &l 0.35 1 2 0 0
14 L\L &+ ERER 31| 0.34 0 2 0 0
53| KEFARE00 0.31 2 2 0 0
10| HiERL 55/ 0.29 4 3 0 0
30| h A EhF By =iy 40| 0.24 2 4 0 0
55 DR B ERER 65 0.24 1 1 0 0
15| KEF 9 Ep 118 54| 0.22 3 2 0 0
12| (B = 880 E®FA 19] 0.21 4 1 0 0
21|Fh B F FEH 33| 0.21 3 3 0 0
90| P TRk HERER 26] 0.16 1 2 0 0
94| KESF 48| 0.14 3 1 0 0
104/ 0iEEEBE  |EBh 39| 0.13 2 3 0 0
86| #t O =ER 50| 0.11 4 4 0 0
87|ch R /\ BEmN 57] 0.1 2 1 0 0
59| KEFOI7R ad0d 31| 007 3 2 0 0
60| KEF{FET FES 41| 005 2 4 0 0
16| KEFE R CIBh 63 0 2 1 0 0
33 EE R A TR 55 0 0 1 0 0
34k /\ 42 0 2 3 0 0
35| %R FE 5 ik FBh 30 0 2 1 0 0
4 |PFEXRER 43 0 3 0 0 0
45 Ut T EHER 45 0 1 2 0 0
A8| KTFHE HER M550 3 2 0 0
50| RAKES 64 0 3 1 0 0
58| KB @S | EERM 45 0 ] 0 0
61| K& RER £EE®N 45 ol- 3 4 0 0
62| 7 B H A BB 43 0 5 1 0 0
63| iR B ED 57 0 2 3 0 0
67| ho ik F gk oo 32 0 2 3 0 0
68[=AO/\ 54 0 3 6 0 0
69| KFFES =HREl 37 0 3 7 0 0
74 =< FE{ER 25 0 0 1 0 0
79 FA Al #PFIEs 57 0 0 1 0 0
85(hFCICIEE  |[{cE=flf 50 0 1 1 0 0
96 LA B ERIR 22 0 0 1 0 0
97 == AR 23 ol- 1 0 0 0
101 | {F R % e 48 0 2 2 0 0
102/ @O0 AEMN 39 0 4 0 0 0
105 = OO 77 0 0 1 0 0
St 332.3] 269] 250 11
EHy 44.19] 8.79] 3.06] 2.81] 0.34
P& 101] 105] 105] 105] 105




